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800,000 x17)1%33] =
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4. AT A Fol ] (54) 1,950 0 1,950
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%207 x53] =
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53] =
4. 81185 1,920 1,920 0
1. 3408 1,920 1,920 0
1. 9¥k=4n) 1,920 1,920 0
5. 70285 22,830 19,830 3,000
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1.08$9n 19,830 19,830 0
2AR(ENETEaM)E 3,000 0 3,000
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of AR F723] el s H1)
A A4 | A4 | W S
aa | arel L Lamas]  areams | Gkl | dael | 27 el
S T T /& =
LA () A 2 20,752 20,688 64
1.FAd 8 g 11,012 10,948 64
1. &L 11,012 10,948 64 X{i%ag%%%ﬂl(a%) + 64,00041+12] 64,000
2.9& A52% 9,110 9,110 0
1.+959 6,660 6,660 0
2. W59 2,450 2,450 0
3. 5ot g 630 630 0
1.3 EA] 1 630 630 0
4. 87 wests 49,772 32,562 17,210
1.%353n 9 25,170 10,260 14,910
158t 25,170 10,260 14,910
157144 % 9,850 9,350 500
171849 1,500 1,500 0
2. 9959 4,000 3,500 500 éﬁifgii?f%%x}q A 500,000
3. W5 4,200 4,200 0
4 ANDATZAR AL G 150 150 0
2EQ2Y =89 1,820 910 910
171849 1,820 910 910 g?%ﬁégiéiim%z’w TR 910,000
;j¢ﬂ%m%x} EAFRAE 5 500 0 13,500 |
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1. 5479 14,112 14,112 0
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1. 07 8- 12,376 12,376 0
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